Restar en Rectas Numéricas (1)

Use las rectas numéricas para calcular cada diferencia.

70 — 60 =

0 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 8 90 95 100

75— 55 =

0 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 8 90 95 100

40 — 30 =

0 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 8 90 95 100

0 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 8 90 95 100

55 — 10 =

0 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 8 90 95 100
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Restar en Rectas Numéricas (I) Respuestas

Use las rectas numéricas para calcular cada diferencia.

70 — 60 = _10

A

0 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 8 90 95 100

75 —55=_2

-

0 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 8 90 95 100

40 — 30 = _10

-

0 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 8 90 95 100

100 =75 = _2

—

0 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 8 90 95 100

55 — 10 = 45

A

0 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 8 90 95 100
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